THEORY OF COMPUTATION

Q1. The language {a*i b*j ¢ K| i=j or j=k} is
A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

Q2. The language {a*i b"j ¢ k|k=min(i.j)} is
A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

3. The language {a”i b*j ¢ k| k= max(i.j)! os

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

04. The language {a”n b”n c”i| i<>n! is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free




D.type-0 but not context-sensitive

0S5. The language {a”i b*j ¢ k| i<=k<=2j} is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

06. The language {a”i b"j c kli<j<k! is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

Q7. The language {a”i b*j c kli+j>=k! is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

8. The langugae {a”i b*j ¢ klk<=i or k<=j! is

A. regular



B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

Q9.{a”i b2i c/j dAjli.j>=11 is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

010. The language {a”*i b/i cAj d*2 e/ 3ili.,j>=1} is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

O11. The language {w| w has equal number of a's, b's and c¢'s } is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free




D.type-0 but not context-sensitive

012. The language {0”°n1”nn>=1% U {0”n 1°2n|n>=1} is

A. regular

B. context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

013. The language {0"nl1”n/n>=1! U {0"n 1°2n|n>=11 is

A. regular

B. deterministic context-free but not regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

014. The language {0”°n1”nn>=1% U {0*n 1°2n|n>=1} is

A. regular

B. context-free but not deterministic context free

C. context-sensitive but not context-free

D.type-0 but not context-sensitive




Q15. {07 1Mja24i]j>=it U {07 1Mjb24i]j>=it is

A. regular

B. context-free but not deterministic context free

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

0Q16. {0%i 1Mja27i]j>=it U {07 17 jb24i]j>=it is

A. regular

B. context-free but regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

0O 17. The language {a’n!/n>=11 is

A. regular

B. context-free but regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

018. The language {a”ceil(log2n)n>=11} is




A. regular

B. context-free but regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

019. {0"n 1*n"2|n>=1} is

A. regular

B. context-free but regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive

020. The langugae {a’plp prime! is

A. regular

B. context-free but regular

C. context-sensitive but not context-free

D.type-0 but not context-sensitive




